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Libby Chapter7  

Reporting and Interpreting Cost of Goods Sold and Inventory
Instructor Comments

Introduction

In this chapter, we deal with firms that either buy finished goods and sell them (merchandising firms) or buy raw materials and transform them into finished products (manufacturing firms).  The text almost always uses merchandising firms as examples.  
After completing the chapter, you should know:

· The vocabulary of inventory
· Different inventory methods (LIFO, FIFO, Average, Specific Identification) and how each method computes the amounts of ending inventory, cost of ending inventory, and cost of goods sold

· Note:  cost of goods available for sale during the period is allocated between ending inventory and cost of goods sold.  

· The effects of alternative inventory methods on financial statements and financial statement ratios

· LIFO reserves

· How inventories are reported in financial statements (lower of cost or market).

· Difference in perpetual and periodic inventory systems

· LIFO Liquidations (Appendix A) and how they affect financial statements.  

· How to compute Inventory Turnover (and the related average number of days to sell inventory)

Cost of Goods Available for Sale, Ending Inventory, Cost of Goods Sold

Accounting for the costs related to inventory sold (cost of goods sold) and to inventory on hand (ending inventory) is conceptually simple; yet, it can appear to be complex.

At its most basic, conceptualize a situation where a firm had beginning inventory and acquired (or manufactured) inventory during the year.  The firm incurred costs to acquire the beginning inventory and the merchandise in that period.  Those total costs are assigned to either (1) the units sold during the period or (2) ending inventory, units on hand at the end of the period.  We use the term cost of goods available for sale as the sum of the two costs. 

	Cost of Beginning inventory

	Cost of Purchases    

	Cost of Goods Available for Sale


Conceptually, if we know:

1. cost of goods available for sale and cost of ending inventory, we can compute cost of goods sold.

2. cost of goods available for sale and cost of goods sold, we can compute cost of ending inventory

Accounts tend to emphasize the first format.  The accounting process accounts for cost of goods available for sale, computes the cost of ending inventory, and the difference is cost of goods sold.  Note:  modern computer systems can keep track of both simultaneously and can provide real time data about the cost of goods sold.  The following reconciliation is the basis for the computation of cost of goods sold.

	Beginning inventory

	Cost of purchases (or cost of goods manufactured)

	Cost of goods available for sale

	Less:  ending inventory (shown on balance sheet)

	Cost of goods sold (shown on income statement)


The primary questions surrounding inventory are:

· Which costs related to acquisition should be capitalized as inventory costs, and which cost should be expensed as period expenses?  

· How should the cost of ending inventory be calculated?  Note that how the cost of ending inventory is calculated affects the calculation of cost of goods sold.

· At what value is ending inventory presented on the balance sheet?

Illustration of Allocation of Cost of Goods Available for Sale to Ending Inventory and Cost of Goods Sold
Cost of Goods Available for Sale is allocated to Ending Inventory and Cost of Goods Sold.  The inventory valuation method chosen by management (e.g., FIFO, LIFO, Average Cost) determines how the cost of goods available for sale amount is allocated between ending inventory and cost of goods sold.  
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The chapter discusses three major items that are affected by this allocation.

· Methods of determining cost of ending inventory and cost of goods sold

· Reporting inventory in financial statements at lower of cost or market

· LIFO reserves

Which Costs Related To Acquisition Should Be Capitalized As Inventory Costs, 
And Which Cost Should Be Expensed As Period Expenses?
In general, all costs of acquiring inventory and getting it ready for sale should be capitalized.  This includes the purchase price, shipping costs (freight-in), inspection cost, preparation costs, etc.  Costs of selling the item should be treated separately as selling expenses and matched with the period in which the sale is recognized.  For a manufacturing firm, inventory costs include the costs of raw materials, direct labor, and factory overhead.  As the text points out, some costs that may be minor and theoretically should be charged to inventory may be treated as a period expense instead (e.g., inspection, insurance on goods in transit) because the effort needed to allocate the costs to inventory would exceed the benefits of assigning and tracking the costs.
The general rule is that interest expense is treated as a period expense and is not capitalized (one exception is shown in Chapter 8, p. 387).  Thus, interest expense should not be treated a part of inventory cost.  As shown in Chapter 5, interest expense is presented in the financial statements after operating income as other expense.  

Accounts Payable and Purchase Discounts (Chapter Supplement C)
Sometimes companies purchase merchandise on credit and agree to pay the seller later.  The account title Accounts Payable is used to denote this type of transaction.  In this transaction, the seller essentially becomes a creditor for the buyer.  

It is common for buyers to receive an incentive for prompt payment via a purchase discount, a deduction from the sales price for paying promptly.  For example, a common business term such as 2/10, n/30 means that the buyer receives a 2% discount from the sales price if the amount is paid within 10 days; else, the balance is due within 30 days.  (Recall that the discount from the seller’s perspective is called a sales discount; see chapter 6)  This account is an adjustment to purchases, and “purchases” is presented net of purchase discounts.  

Frequently, managers want to determine the effective interest rate associated with purchase discounts.  For example, assume the terms are 3/15, n/45.  A company might quickly approximate the effective interest rate by assuming a 360 day year, and twelve 30-day periods during the year.  Thus, the interest rate may be approximated as 3% x 12 = 36%.  However, to calculate the effective interest rate associated with these terms precisely (see text p. 280), the effective interest rate for our example is calculated as:  ($3/$97) x (365/30) = 3.093 x 12.1667 = 37.63% effective interest rate.  

Because of the significant financing costs incurred for not taking a purchase discount, many companies have the policy that all purchase discounts should be taken.  
Example.  (Note:  this is the same example that was introduced in Chapter 6 for sales discounts, which allows you to compare the same transaction on both companies’ books.)  
Assume that on January 1, the Luck Co. purchased $100,000 of merchandise from the Pagano Co. on account, with the terms 3/15, n45.  Luck would record the transaction as follows.
	Luck Co. 
	
	

	Inventory (1)
	100,000
	

	     Accounts payable
	
	100,000


(1) Alternatively, use the account “purchases,” which is a temporary account during the year and closed to inventory at the end of the period
	Transaction Analysis Review 
· Inventory is an asset account, and it increases:  debit inventory.
· Accounts payable is a liability account, and it increases:  credit accounts payable.


A second method exists to record inventory on January 1, but it is not covered in the text. 

If Luck paid the bill within 15 days, Luck would make the following journal entry when payment was made.

	Accounts payable
	100,000
	

	     Purchase discounts (1)
	
	3,000

	     Cash
	
	97,000


(1) An alternative account title is Purchase Discounts Taken.  Purchase Discounts is a contra asset account, contra to inventory.  It is closed to inventory at the end of the year.  
	Transaction Analysis Review 
· Accounts payable is a liability account, and it decreases:  debit accounts payable.
· Purchase discounts is a contra-purchase (contra-asset) account, and it increases:  credit purchase discounts.
· Cash is an asset account, and it decreases:  credit cash.


If, however, Luck did not pay the bill within 15 days, Luck would make the following journal entry when payment was made.  

	Accounts payable
	100,000
	

	     Cash
	
	100,000


Purchase Returns and Allowances (Chapter Supplement B)
When a buyer returns merchandise, or the buyer negotiates a price adjustment because the incorrect color or size was delivered, the buyer records purchase returns and allowances.  This account is an adjustment to purchases, and “purchases” is presented net of purchase returns and allowances.  

For example, if a buyer returns $15,000 in merchandise, the following journal entry would be made, assuming the original sale was on account.

	Accounts payable
	15,000
	

	     Purchase returns and allowances (1)
	
	15,000


(1) Purchase returns and allowances is a contra asset account, contra to inventory.  It is closed to inventory at the end of the year.  

	Transaction Analysis Review 
· Accounts payable is a liability account, and it decreases:  debit accounts payable.
· Purchase returns and allowances is a contra-purchase (contra-asset) account, and it increases:  credit purchase returns and allowances.


Note:  the other side of this entry was discussed in Chapter 6, sales returns and allowances.

Net Purchases 

In computing net purchases, purchases discounts and purchase returns and allowances are subtracted from purchases.  

	Beginning inventory

	Net Purchases (net of purchase discounts and purchase returns and allowances)

	Cost of goods available for sale

	Less:  ending inventory

	Cost of goods sold 


Periodic Vs. Perpetual Inventory Systems (Control of Inventory) 

(See appendix B for Discussion)
The distinctions between the periodic and perpetual inventory systems have eroded over time because computer systems have become so powerful that using a perpetual system is not much easier to do.  In a perpetual system, a detailed inventory record is maintained for each type of merchandise stocked, showing (1) units and cost of beginning inventory, (2) units and cost of each purchase, (3) units and cost of goods for each sale, and (4) units and cost of goods on hands at any point in time. Therefore, the company has a running computation of ending inventory and cost of goods sold.  In a periodic system, a company counts ending inventory and then determines cost of goods sold.  Most textbook illustrations and problems, including those in Libby et al., use the periodic method because it makes the computations easier.  

How Should The Cost Of Ending Inventory Be Calculated?
ALTERNATIVE INVENTORY METHODS
This area tends to be difficult for students initially to understand.  Recall that the goal of the accounting is to assign costs of goods available for sale to ending inventory and cost of goods sold.  The confusion comes about because of two things:

· Managers have discretion in choosing methods to assign costs.  The text discusses four different inventory methods.  Once a method is chosen, it should be used consistently.
· One method, specific identification, tracks the cost of each specific item.  
· Three methods, LIFO, FIFO, and weighed average, are cost flow assumptions.  
· The physical flow of goods does not have to match the cost flow assumption used to account for costs.

· Often, for large companies, one method is used for some types of inventory, and another method for other types of inventory

Confusion often arises when students are learning to account for inventory because many of the questions call for the student simultaneously to learn how to account for each method, and then to compare and contrast the results of the different methods.

Specific Identification

This method is most frequently used to account for larger, higher dollar volume items (e.g., automobiles, pianos) because it is easier to assign and keep track of costs of specific items purchased.  

Imagine, however, the problem with trying to use specific identification to account for the purchase of 20,000,000 screws in three purchases from three different suppliers at the cost of $0.022, $0.024, and $0.021 per screw, respectively.  While we might be able to tag and identify each screw, the cost of doing so probably outweighs the benefits.  Note, however, that technology advances such as RIFD have made specific identification easier to use.  
Cost Flow Assumptions

Managers may use cost flow assumptions rather than specific identification to account for inventory flows.  

Three major cost flow assumptions are:  
· LIFO (last-in, first-out); 
· FIFO (first-in, first-out), and 
· Weighted average.

Note that the cost flow assumptions do not have to match the physical flow of goods.  The physical flow tends to reflect a FIFO movement because managers like to sell older inventory first.  

The titles of the cost flow assumptions pertain to how costs are assigned to units sold during the period.  (Of course, by assigning costs to units sold, the system also assigns cost to ending inventory.)  

· LIFO assumes that the last units purchased were the first units sold, leaving the oldest units purchased in ending inventory.

· FIFO assumes that the first (oldest) units purchased were the first units sold, leaving the newest units purchased in ending inventory.  
· Weighted Average assumes that the units sold reflect the average cost of goods available for sale during the period, leaving the ending inventory also at average cost.

Managers have discretion in choosing methods to assign costs for financial reporting purposes.  They also have discretion in choosing methods for tax purposes.  An exception to managerial discretion is the LIFO conformity rule.  If LIFO is used for tax purposes, then the method must also be used for financial accounting purposes (see text p. 343).  Inventory methods should be consistently applied over time.  
Also note that the U.S. is the only major country that allows the LIFO method, and IFRS (international financial reporting standards, international GAAP promulgated by the IASB) prohibits LIFO.  
The text does a good job in documenting how the costs of ending inventory and cost of goods sold would be computed for each cost flow assumption.
Textbook Example E7-7 (modified)
Statement Effects of LIFO and FIFO

Broadhead Company uses a periodic inventory system. At the end of the annual accounting period, December 31, the accounting records provided the following information:

	
	Quantity
	Amount per unit
	Costs
	Revenues

	Beginning inventory
	3,000
	9
	27,000
	

	Purchase, April 11
	9,000
	10
	90,000
	

	Purchase, June 1
	7,000
	15
	105,000
	

	Cost of goods available for sale
	19,000
	
	222,000
	

	Sales
	(10,000)
	50
	
	(500,000)

	Ending inventory
	9,000
	
	
	


Calculate Ending Inventory and Cost of Goods Sold under three different assumptions about the inventory method:  LIFO, FIFO, Average.

	LIFO
	Quantity
	Amount per unit
	Cost of Goods Sold
	Cost of Ending Inventory

	
	7,000
	15
	105,000
	

	
	3,000
	10
	30,000
	

	
	6,000
	10
	
	60,000

	
	3,000
	9
	
	27,000

	Total
	
	
	135,000
	87,000

	Check:  135,000 + 87,000 = 222,000


	FIFO
	Quantity
	Amount per unit
	Cost of Goods Sold
	Cost of Ending Inventory

	
	3,000
	9
	27,000
	

	
	7,000
	10
	70,000
	

	
	2,000
	10
	
	20,000

	
	7,000
	15
	
	105,000

	Total
	
	
	97,000
	125,000

	Check:  97,000 + 125,000 = 222,000


AVERAGE

222,000 / 19,000 = 11.6842 per unit

Ending Inventory:  9,000 x 11.6842 = 105,158 (rounded)

Cost of goods sold:  10,000 x 11.6842 = 116,842 (rounded)

Check:  105,158 + 116,842 = 222,000
IFRS and Inventory Methods
IFRS does not allow the LIFO method.  Accordingly, if the U.S. ever adopts IFRS, companies will be precluded from using LIFO, and companies will have to change to another method of computing inventory cost.  
Summary of Inventory Costing Methods

1. Specific Identification

a. This method tracks the specific items sold and on hand. The specific item prices are traced to purchase invoices via serial numbers or detailed descriptions.

b. Special coding (such as bar codes) facilitates the use of this method.

c. This method is usually used for high cost items whose features tend to vary rather significantly. Car dealerships and jewelers commonly use this method. It is often impractical for companies selling large quantities of similar items to use this method.

2. First-In, First-Out Method (FIFO)
a. Assumes the first costs in are the first costs out; therefore the remaining costs would be from the latest purchases.

b. The oldest costs are included in cost of goods sold 
c. The newest costs are included in ending inventory.
3. Last-In, First-Out Method (LIFO)
a. Assumes the last costs in are the first costs out; therefore the remaining costs would be from the earliest purchases.

b. The newest costs are included in cost of goods sold 
c. The oldest costs are included in ending inventory.
4. Average Cost Method
a. Uses the weighted average unit cost of the goods available for sale for both cost of goods sold and ending inventory.
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b. This method uses a weighted-average rather than a simple average.

c. Produces results between the FIFO and LIFO methods.
At What Value Is Ending Inventory Presented On The Balance Sheet? 
Lower of Cost or Market

Currently, GAAP calls for inventory to be presented at Lower of Cost of Market (LCM) on the balance sheet.  
· Note that this is an example of how accountants have allowed conservatism to affect balance sheet presentation.  Market value is defined as replacement cost.  
· Cost is determined by one of the four inventory cost methods—specific identification, LIFO, FIFO, or weighted average.  
· LCM can be applied on an item by item basis, or to groups of like items.  
· If inventory cost exceeds market, then the balance sheet shows inventory at market.
· On many financial statements, the balance sheet caption will read “Inventory—at cost, which approximates market.  
Example.  As an example of LCM, assume that the ending inventory cost is $50,000,000, and replacement cost is $48,000,000.    Therefore, the ending balance in the inventory allowance account = $50,000,000 - $48,000,000 = $2,000,000.  If the beginning balance (last year’s ending balance) in the Inventory allowance account is $100,000, then the following adjusting journal entry is made to reduce the inventory to LCM.
	Cost of goods sold
	1,900,0000
	

	     Inventory, Allowance to reduce inventory to market (1)
	
	1,900,000

	2,000,000 – 100,000 – 1,900,000



(1) Alternatively, sometimes the credit is directly to inventory (not discussed in text).  An allowance method is preferred in order to maintain the cost of inventory.
In T Account form:

	Inventory, Allowance to Reduce Inventor to Market

	
	Beginning balance =                       100,000

	
	Adjustment =                               1,900,000

	
	Ending Balance =                        2,000,000


	Transaction Analysis Review 

· Cost of goods sold is an expense account, and it increases:  debit cost of goods sold.

· Inventory is an asset account and it decreases. However, we use a contra asset account to record the decrease, and it increases:  credit inventory allowance to reduce inventory to market.


NOTE:  The adjustment to ending inventory is offset by an adjustment to cost of goods sold.  Coast of goods available for sale is allocated between ending inventory and cost of goods sold.
Change the Example.  In the previous problem assume that last year’s ending balance in the inventory allowance account was $2,500,000.  Then, the journal entry would be as follows:

	Inventory, Allowance to reduce inventory to market (1)  Cost of goods sold
	500,0000
	

	     Cost of goods sold
	
	500,000

	(1) 2,500,000 – 2,000,000



(2) Alternatively, sometimes the credit is directly to inventory (not discussed in text).  An allowance method is preferred in order to maintain the cost of inventory.

In T Account form:

	Inventory, Allowance to Reduce Inventor to Market

	
	Beginning balance =                    2,500,000

	Adjustment =                 500,000
	

	
	Ending Balance =                        2,000,000


	Transaction Analysis Review 

· Cost of goods sold is an expense account, and it increases:  debit cost of goods sold.

· Inventory is an asset account and it decreases. However, we use a contra asset account to record the decrease, and it increases:  credit inventory allowance to reduce inventory to market.


LIFO Reserve 
Managers want to use LIFO for tax purposes because it postpones tax payments.  The LIFO Conformity rule requires that companies that use LIFO for tax purposes also use it for financial reporting purposes.  Assume that companies that want to use LIFO for U.S. inventories keep their inventory records on a FIFO basis, but the make an adjustment to convert from FIFO to LIFO.  

If a company uses LIFO for all or some of its inventory, it must also present in its footnotes the ending inventory using some other method (e.g., FIFO, or average, with FIFO the most common).  The difference between the FIFO and LIFO ending inventory amount is designated as a LIFO Reserve.  In a period of rising prices, ending inventory is almost always higher under FIFO than LIFO; so, the LIFO reserve is a negative amount (subtraction).  Therefore, most financial statement users treat LIFO reserve as a contra account.
An alternative title for LIFO reserve, which is more descriptive, would be excess of FIFO cost over LIFO cost.  

The effect of the LIFO reserve on the cost of goods sold for any period is the difference between the beginning and ending LIFO reserves.  See text p. 351 for a discussion of how financial statements could be adjusted on a pro forma basis form LIFO inventory to FIFO inventory.
Example.  As an example, assume that Max Co. kept its internal records on a FIFO basis but uses LIFO for financial reporting.  The LIFO reserve at December 31, 2014 equals $3,750,000, and the LIFO reserve at December 31, 2015 equals $4,250,000.  Also, 2015 cost of goods sold computed using FIFO was $40,000,000.  

Note that the LIFO reserve went up by $500,000.  Recall that the LIFO reserve is a contra asset account and the offset is to cost of goods sold.  The journal entry to record the increase in the reserve is as follows.  

	Cost of goods sold
	500,000
	

	     LIFO reserve
	
	500,000


In T account form, the information is as follows.  

	LIFO Reserve

	
	BB                          3,750,000

	
	Needed amount         500,000

	
	EB                          4,250,000


Thus, cost of goods sold for the period would be $40,500,000:  $40,000,000 + $500,000.
Note:  A decrease in the LIFO reserve will decrease cost of goods sold, and an increase in the LIFO reserve increases cost of goods sold.

Summary:  The LIFO reserve account is used to convert ending inventory from FIFO to LIFO, with the offset to the change in the reserve being cost of goods sold.  Because many companies use FIFO internally for U.S. inventories, but want to use LIFO for U.S. tax purposes, they are forced to use LIFO for financial reporting purposes, which causes the need for the LIFO reserve.

Financial Statement Presentation
The chapter presents much detail about computing cost of good sold and ending inventory.  In published financial statements, normally a reader only has access to summary information.

For example, the following information related to inventories was presented in Eli Lilly’s 2012 financial statements.
	Consolidated Statements of Income

Year Ended December 31

Dollars in Millions

	
	      2012
	      2011

	Revenue
	$22,603.4
	$24,286.5

	Cost of sales
	   4,796.5
	   5,067.9

	Gross Profit *
	$17,806.9
	$19,218.6

	Gross Profit Percentage *
	78.8%
	79.1%


* These amounts are not presented in the financial statements, but have been added to better understand the information.  
	Consolidated Balance Sheets

December 31

Dollars in Millions

	
	      2012
	      2011

	Inventories
	2,643.8
	2,299.8


Eli Lilly

	Note 1:  Summary of Significant Accounting Policies

	     Inventories:  We state all inventories at lower of cost or market.  We use the last-in, first-out (LIFO) method for substantially all our inventories located in the continental Unites States, or approximately 40 percent or our total inventories.  Other inventories are valued by the first-in, first-out (FIFO) method.  FIFO cost approximates current replacement cost.  Inventories at December 31 consisted of the following:  

	
	      2012
	      2011

	Finished products
	$   834.4
	786.4

	Work in process
	1,735.8
	1,518.2

	Raw materials and supplies
	   256.1
	   205.8

	     FIFO Cost (1)
	2,826.3
	2,510.4

	Reduction to LIFO cost (2)
	     (182.5)
	     (210.6)

	Inventories
	$2,643.8
	$2,299.8


(1) This caption not provided in footnote

(2) This is the LIFO Reserve

What would a financial analyst do to convert Lilly’s financial statements to a FIFO basis?  (An analyst would perform this restatement if s/he followed the drug industry and wanted to put all financial statements on the same basis.)  To adjust from LIFO to FIFO, beginning inventory would be increased by $210.6 million and ending inventory would be increased by $182.5 million.  
The Lilly year-end Adjusting Journal Entry to reflect the LIFO reserve change is as follows:

	LIFO reserve  
	28,100,000
	

	     Cost of goods sold 
	
	28,100,000


In T account form, the information is as follows.  

	LIFO Reserve

	
	BB                          210,600,000

	Adjustment               28,100,000
	

	
	EB                          182,500,000


The effect of this journal entry would be to decrease retained earnings (ignoring tax effects).  
Note that the ending LIFO reserve amount, then, also provides a measure of the cumulative effect over time of using LIFO compared to FIFO.  For Lilly, the sum of the effects of using LIFO versus FIFO from all prior years and the current period equals an increase in cost of goods sold of $182.5 million.  Why would Lilly want to decrease net income by using LIFO?  The answer is because for tax purposes, using LIFO reduces taxable income, and therefore, decreases income taxes paid.  
Because the LIFO reserve went down in 2012 (from (210.6 to 182.5) Lilly recorded a decrease in cost of sales of $28.1 million (210.6-182.5) and an increase in ending inventory because it used LIFO rather than FIFO.  Note that this analysis does not take income taxes into consideration.  
LIFO Liquidations (Chapter Supplement A)
A firm that uses LIFO builds up inventory layers each year as it adds inventory.  What happens if inventory decreases and ending inventory is lower than beginning inventory?  If this happens, then some of the older costs in LIFO inventory are matched with current sales, and a LIFO liquidation occurs.  Many firms do almost anything to avoid a LIFO liquidation because of the tax effects (increase taxable income).  
Ratios

Inventory Turnover

Inventory Turnover (or the inventory turnover ratio) is used in financial statement analysis across time and across firms.  Inventory turnover measures the amount of cost of goods sold per dollar of average inventory.
	Inventory turnover ratio
	=
	Cost Goods Sold

	
	
	Average Inventory


This ratio measures how often, on average, inventory is sold (or turned) during the period.  For example, assume that for the Severn Co. the inventory turnover ratio was 11.4, which means that during the year, on average, Severn sold its inventory 11.4 times.

Average Number of Days to Sell Inventory. The inventory turnover ratio can be used to calculate how long, on average, it took to sell inventory during the year.  If we divide 365 by inventory turnover ratio, we can compute the number of days, on average, it sakes to sell inventory.  Continuing with the Severn example, the average number of days it took Severn to sell its inventory was 365 ÷11.4 = 32.0 days.
Statement of Cash Flows

Adjustments are made in the operating activities section for changes in two items related to inventory:  inventory and accounts payable.  The adjustments are as follows:

	Cash Flow From Operating Activities

Net Income
    Adjustments:  add (subtract)

          Decreases (increases) in inventory

          Increases (decreases) in accounts payable


In order to understand these adjustments, let’s review T accounts for inventory and accounts payable.  For convenience, let’s assume that all purchases are “on account.”  The explanation works if this is not the case, but initially it is easier to understand if all purchases are on account.
	Inventory

	Beginning balance
	

	Total Purchases 
	Cost of goods sold

	Ending Balance
	


	Accounts Payable

	
	Beginning balance

	Cash payments
	Purchases on account

	
	Ending Balance


To make the example more specific, consider the following T accounts.

	Inventory

	1,000,000
	

	6,775,000  (purchases)
	6,721,000 (cost of goods sold)

	1,054,000
	


	Accounts Payable

	
	400,000

	1,025,000 (cash payments)
	1,045,000 (purchases on account)

	
	420,000


The Statement of Cash Flows presentation for the adjustments to net income under this example are as follows:   

	Cash Flow From Operating Activities

Net Income
    Adjustments:  add (subtract)

          Decreases (increases) in inventory                  (50,400)

          Increases (decreases) in accounts payable        20,000


Heuristic

We can use the following heuristic (general rule) to understand adjustments for operational current assets and liabilities in the SCF operational activities section.  This heuristic relies on your knowledge of debits and credits.

· If the change in the account balance during the year is a debit (increase in current assets, decrease in current liability), then the adjustment in the SCF is a subtraction, a decrease in cash (the subtraction is a credit to cash).  
· If the change in the account balance during the year is a credit (decrease in current assets, increase in current liability), then the adjustment is an addition, an increase in cash (the addition is a debit to cash).  
In our example, inventory increased by $50,400 during the period (a debit), and the adjustment was to subtract the change.  Also, accounts payable increased by $20,000 (a credit), and the adjustment was to add the change.   
CHAPTER SUMMARY (From Textbook Authors)
Costs flow into inventory when goods are purchased or manufactured, and flow out when the goods are sold. To abide by the matching principle, the total cost of the goods sold during the period must be matched with the sales revenue earned during the period. Cost of Goods Sold measures the cost of inventory that was sold, and Sales Revenue measures the revenue produced by that same inventory. When cost of goods sold is deducted from sales revenue for the period, the difference is called gross profit or gross margin on sales. The remaining expenses are deducted from gross profit to derive net income.

This Chapter focuses on the problem of measuring cost of goods sold and ending inventory when unit costs change during the period. Inventory should include all the items held for resale that the entity owns. When there are different unit cost amounts, a rational and systematic method must be used to allocate costs to the units remaining in inventory and to the units sold. This chapter discusses four different inventory-costing methods and their applications in different economic circumstances. The methods discussed are specific identification, FIFO, LIFO, and average cost. Each of the inventory costing methods is in conformity with GAAP. The selection of a method of inventory costing is important because it will affect reported income, income tax expense (and, therefore, cash flow) and the value of inventory reported on the balance sheet. In a period of rising prices, FIFO normally results in a higher net income than LIFO. In a period of falling prices, the opposite result occurs. Public companies using LIFO provide footnote disclosures that allow conversion of inventory and cost of goods sold to FIFO amounts.

Ending inventory should also be measured on the basis of the lower of actual cost or replacement cost (lower of cost or market basis), which can have a major effect on the statements of companies facing declining costs. Also, damaged, obsolete, and deteriorated items in inventory should be assigned a cost that represents their current estimated net realizable value if that is below cost.

Two inventory systems are discussed for keeping track of the ending inventory and cost of goods sold for the period: 

(a) The perpetual inventory system, which is based on the maintenance of detailed and continuous inventory records for each kind of inventory stocked, and

(b) The periodic inventory system, which is based on a physical count of ending inventory and the costing of those goods to determine the proper amounts for cost of goods sold and ending inventory.
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1.
Apply the cost principle to identify the amounts that should be included in inventory and the matching principle to determine cost of goods sold for typical retailers, wholesalers, and manufacturers.  
Inventory should include all items owned that are held for resale. Costs flow into inventory when goods are purchased or manufactured. They flow out (as an expense) when they are sold or disposed of. In conformity with the matching principle, the total cost of the goods sold during the period must be matched with the sales revenue earned during the period. 

2.
Report inventory and cost of goods sold using the four inventory costing methods.

The chapter discussed four different inventory costing methods used to allocate costs between the units remaining in inventory and to the units sold, and their applications in different economic circumstances. The methods discussed were FIFO, LIFO, average cost, and specific identification. Each of the inventory costing methods conforms to GAAP. Public companies using LIFO must provide note disclosures that allow conversion of inventory and cost of goods sold to FIFO amounts. Remember that the cost flow assumption need not match the physical flow of inventory.

3.
Decide when the use of different inventory costing methods is beneficial to a company.

The selection of an inventory costing method is important because it will affect reported income, income tax expense (and hence cash flow), and the inventory valuation reported on the balance sheet. In a period of rising prices, FIFO normally results in a higher income and higher taxes, than LIFO; in a period of falling prices, the opposite occurs. The choice of methods is normally made to minimize taxes.

4.
 Report inventory at the lower-of-cost-or-market (LCM).

Ending inventory should be measured based on the lower of actual cost or replacement cost (LCM basis). This practice can have a major effect on the statements of companies facing declining costs. Damaged, obsolete, and out-of-season inventory should also be written down to their current estimated net realizable value, if below cost. The LCM adjustment increases cost of goods sold, decreases income, and decreases reported inventory in the year of the write-down.

5.
Evaluate inventory management using the inventory turnover ratio and the effects of inventory on cash flows.

The inventory turnover ratio measures the efficiency of inventory management. It reflects how many times average inventory was produced and sold during the period. Analysts and creditors watch this ratio because a sudden decline may mean that a company is facing an unexpected drop in demand for its products or is becoming sloppy in its production management. When a net decrease in inventory for the period occurs, sales are more than purchases; thus, the decrease must be added in computing cash flows from operations. When a net increase in inventory for the period occurs, sales are less than purchases; thus, the increase must be subtracted in computing cash flows from operations.

6. Compare companies using different inventory methods.

These comparisons can be made by converting the LIFO company’s statements to FIFO. Public companies using LIFO must disclose the differences between LIFO and FIFO values for beginning and ending inventory. These amounts are often called the LIFO reserve. The beginning LIFO reserve minus the ending LIFO reserve equals the difference in cost of goods sold under FIFO. Pretax income is affected by the same amount in the opposite direction. This amount times the tax rate is the tax effect.

7.
Understand methods for controlling and keeping track of inventory and analyze the effects of inventory errors on financial statements.

Various control procedures can limit inventory theft or mismanagement. A company can keep track of the ending inventory and cost of goods sold for the period using (1) the perpetual inventory system, which is based on the maintenance of detailed and continuous inventory records, and (2) the periodic inventory system, which is based on a physical count of ending inventory and use of the inventory equation to determine cost of goods sold. An error in the measurement of ending inventory affects cost of goods sold on the current period’s income statement and ending inventory on the balance sheet. Because this year’s ending inventory becomes next year’s beginning inventory, it also affects cost of goods sold in the following period, by the same amount, but in the opposite direction. These relationships can be seen through the cost of goods sold equation (BI + P ( EI = CGS). 
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